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I Continued argumentation re: interpretation of vv. 2-3 (both refer to 213 mpv PV or v. 2 is in re: 213 himself)
a  Source: for 1st opinion — that a 233 himself pays %93
i wn»9a(from 2 23) on v2: (begins with read as if nann [v. 1] is written after the items)
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71 would be enough — but we would have limited it to namn 3"y 17p, giving us nw

/1. would have limited it to 71221 Wi1p, giving us NN

79 would have limited it to animals, giving us all other animals (but not other m%v5vn)
o7y is unnecessary (as per step #3) = all 90500 included in rubric of 583

ii  Analysis:
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Challenge: na1 is written in v. 1 = v191 593, in which case we only include the V72 (V192W NN RYR Y931 PR)
Proposal: ®an is suggesting we imagine how it would work if n221) were written afterwards
(a) Rejection: if so, it would be 9531 v and everything would be included (and no need for 3 or 4 nv19)
Rather (827): ®in reads 0»n as a concluding v
(a) And: he follows » »a71 ®1n who allows “mixed n'%%3” to work together
(i) Explanation: 13t 953 (211») implies all items; 1Ind 993 (n7n) includes only livestock
(b) Then: read 811 as Y921 V1M Y9, each step increasing reach of w019 via the argumentation above
(i) If so: why the need for x¥nn xrx¥nn OR?
(if) Answer: orn is the source for “all living things”, i.e. it's used as a 019, it cannot be also used as 592 #2
(iii) Therefore: R¥nN R¥NN DR serves as the 27 5%
1. Challenge: R¥nn R¥nn DR is placed next to the first Y93 (na1n)
2. Answer: follow prescription of »& 212 — whenever 2 0’553 are juxtaposed, (virtually) move v1a
between them and interpret as 9931 V191 992
a. Therefore: M give us all goods (n»n already established all livestock)
b. And:mnn adds qualifier of specificity (something with identifying marks)
c.  However: n® is now unnecessary
Reorientation: we view system as 019’1 11277, as per YRYNY’ "1 (10 PoIN) inre: v. 4
(a) Challenge: once we’ve used vVY'm "2, what is the purpose of the nv1a?
(b) Answer: exclude ypap, 0 12y, MIYW and establish that an animal is paid up as of time of theft (n2>13->10n)
(c) Challenge: to 274 ®n»13, who infers 2332 %9 2vn from v. 2, what is the purpose of ®xnn r¥nn DR?
(d) Answer: as per 'R2PR 72 X171 —17's reason for ruling that if someone admits to a vap and then 01y come to
testify to his liability — that he’s still exempt —(D*7v2 R¥nn DR, then D172 R¥NN, excluding one who admits)
(i) Challenge: where will 1st Rn»2 infer this ruling?
(if) Answer: v. 5 —0nOR NPV IR — excluding M¥Y NR YVIN
1. Challenge: how does 2" xn»»1 interpret DnYR NPV YR
2. Answer: core principle that m10a vipa nTn
3. And: 15t xn»12 maintains (contra 17) that 2> D1y 1R2 3”NRY ©IPa NIV
(e) Challenge: 1 ®n1 (as above) uses R¥nn R¥nN DR teaches RYNR 71 ®17's explanation for 29
(i) But: what does 1t kn>»11 do with nona?
(if) Answer: as per 27 RIN — any time a NWI9 is repeated, only for new information in it (37's ruling)
proposal: perhaps 213 himself is only liable as is a 233 myv MV — after a ny1awv
(a) Rejection: apy’ 1 — we would know that a 233 pays double via vp from 11 nyv v (who at least originally
obtained goods legally, nonetheless pays %93); purpose of 02w 05w’ 233 — even without a n»aw
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